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36 1547 H 4 # include <opencv2 / opencv.hpp> 4 # include <opencv2/opencv.hpp>
37 2847 H 4  # include <opencv2 / opencv.hpp> 4 # include <opencv2/opencv.hpp>
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14 img_dst = cv2.flip(img_src, flipCode = 0) | 14 img_dst = cv2.flip(img_src, flipCode = 0) #
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1547 H 16 cv2.imshow('src', img_src) # A%z |16 cv2.imshow('src', img_src) # ANMW{E% FR
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2447H 17 cv2.imshow ('dst', img dst) # HJmiffx |17 cv2.imshow ('dst', img dst) # JjHi{§z 2R
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18 ch = cv2.waitKey (1) # F—ANHEDH 18 ch = cv2.waitKey (1) # ¥—ANEDL
19 if ch == ord('q"): 19 if ch == ord('q"):
20 break 20 break
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image.at<uchar>(y, x) = 255;
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image.at<Vec3b>(y, x) = Vec3b(0, 255, 0);
16 1847H 2 Vector<Mat> img bgr (3); 2 vector<Mat> img bgr (3);
1947 H 3 Vector<Mat> img_tmp (3); 3 vector<Mat> img_tmp(3);
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198 54TH # include <opencv2 / opencv.hpp> # include <opencv2/opencv.hpp>
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